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Solution for review exercise 20 (chapter 2) in Pitman

We define the events Bi that exactly ¢ bits are transmitted correctly and the event W
that a word is transmitted correctly.

Question a) We can express the event W in terms of the Bi's by W = U, . Bi.
The events Bi are mutually exclusive such that using the addition rule page 21
we get

P(W) =P (UL, ,Bi) = fj P(Bi)

% k

Now the probabilities P(Bi) are given by the Binomial distribution page 81 and
page 479, so
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P = 3 (7)o

Question b)

0.01 70.01
P(W) =0.99° ((1 +8— (1 + 5009

=0. 4
0.09 )) 0.999946



